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P Quantity
15 3.8
25 2.8
35 1.8
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Quantity
1.3
0.8
0.3
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First: We need to find the marginal productive of labor and capital:

Second: Use the following formula :

By simplifying:

Next, we can solve for K or . Solve the above for K, we obtain
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Plug (1) into the production function Q(K,L), we obtain

2

2
q=1L3(—)
r

Then, solve the above to L, we get

L = 1004 (%)2 31,250

1

K* = 1004 (‘1‘—8)z 500,000
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We have that ps = SAR 3,and P, = SAR 9,1 = 30

S 5—1—30—10U't C—I—30—333—3U't
0, =5 =3 = nits,, =5 =35 =333= nits
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The slope is that ,

Pc
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‘Lagrange Multiplier

[ =SC+10(S+C) —n(C + 35S —-30)

S+10

0l
1)=—=S5S+10-9u=0-> p= 3

dc

C +10
3

ol
N—=C+10—-3u=0 =
)65 + il - U




ol
3)a—u=9C+3S—30=0—>9C+3S=30

S+10 C+10

After manipulating the equation above, we obtain,

S=20+3C (3)

Plug (3) into the budget constrain, i.e., B.C, we have that
P(:C + Pss =]

9C +3(20+3C)=30=9C+60+9C =30- 18C =-30

So,C = —1..6 Unit

We have a corner solution; hence, the consumer will choose only one

unit which is sandwiches (S).

9(0) +35=30—-> S =10 unitsonlyand C =0
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q® =500 —4p
q° = —100+ 2p
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500 — 4p = —100 + 2p

6p = 600,P" =100

Plug p* into q° & q%, we get

q* =100
q” =100
If the price increases by SAR 10, then we will have that p* = 110
Then q*¢ = 60

Thenq™ =120




